
1. (+) Ê®úEòÉ¨ªÉÉ VÉÉMÉÉ ¦É®úÉ (EòÉähÉiªÉÉ½þÒ {ÉÉSÉ) :--

(1) ¨ÉÉäVÉhÉÒ¶ÉÉºjÉÉSÉÉ ={ÉªÉÉäMÉ EòÉªÉ EòÉføhªÉÉºÉÉ`öÒ ½þÉäiÉÉä ?

(+) bÅ÷Éì÷<ÇMÉ (¤É) UäônùÉSÉÉ xÉEòÉ¶ÉÉ

(Eò) xÉEòÉ¶ÉÉ.

(2) 1cm = 8m  +ÆiÉ®úÉSªÉÉ ºEäò±ÉSÉÉ R.F. ÊEòiÉÒ +ºÉä±É.

(+) 1/1000 (¤É) 1/800

(Eò) 1/400.

(3) BEò ¨ÉÒ. PÉxÉ¡ò³ý ¨½þhÉVÉä ÊEòiÉÒ ¡Úò]õ PÉxÉ¡ò³ý ½þÉä<Ç±É.

(+) 3.528 (¤É) 35.28

(Eò) 352.80.

(4) ¨ÉÒ]õ®ú ºÉÉJÉ³ýÒ¨ÉvªÉä ÊEòiÉÒ Eòb÷¬É +ºÉiÉÉiÉ.

(+) 100 xÉMÉ (¤É) 90 xÉMÉ

(Eò) 50 xÉMÉ (b÷) 10 xÉMÉ.

(5) ºÉ´½æþ+®úSªÉÉ EÆò{ÉÉºÉSÉÒ Ë®úMÉ EòÉähÉiªÉÉ |ÉEòÉ®äú Ê±ÉÊ½þ±Éä±ÉÒ +ºÉiÉä.

(+) 00 {ÉÉºÉÖxÉ 900 {ÉªÉÈiÉ (¤É) SÉ®úhÉ {ÉrùiÉÒ|É¨ÉÉhÉä 00 iÉä 900

(Eò) ´ÉÊ®ú±É nùÉäx½þÒ.

(6) EòÉ]õEòÉäxÉ +ÉÊhÉ 450 EòÉäxÉ EòÉähÉiªÉÉ ={ÉEò®úhÉÉxÉä Eò®úiÉÉ ªÉäiÉÉä.

(+) =PÉb÷É GòÉìºÉ º]õÉ¡ò (¤É) £åòSÉ GòÉìºÉ º]õÉ¡ò

(Eò) VÉÖ³ý´ÉiÉÉ ªÉähÉÉ®úÉ GòÉìºÉ º]õÉ¡ò (b÷) ±ÉÆ¤É EòÉäxÉ ªÉÆjÉ.

(¤É÷÷) ªÉÉäMªÉ VÉÉäb÷¬É ±ÉÉ´ÉÉ :--

‘ + ’ MÉ]õ ‘ ¤É ’ MÉ]õ

(1) ºÉÉvÉä ºÉÆiÉ±ÉxÉ (ËºÉ{É±É ±Éä́ ½þ±ÉÓMÉ) (+) ºÉȪ û´ÉÉiÉÒSªÉÉ Ë¤ÉnÖù́ É®ú ¨ÉÉäVÉhÉÒSÉÉ ¶Éä́ É]õ.

(2) Ê´ÉÊ¶É¹]õ ºÉÆiÉ±ÉxÉ (Êb÷¡ò®úÆ¶ÉÒªÉ±É ±Éä́ ½þ±ÉÓMÉ) (¤É) ªÉÉ¨ÉvªÉä ¨ÉvÉÒ±É ÊxÉ®úÒIÉhÉ ªÉäiÉ xÉÉ½þÒ.

(3) =b÷iÉä ºÉÆiÉ±ÉxÉ (}±ÉÉªÉ ±Éä́ ½þ±ÉÓMÉ) (Eò) ªÉÉ¨ÉvªÉä ¤Énù±É Ë¤ÉnÚùù PªÉÉ´ÉÉ ±ÉÉMÉiÉÉä.

(4) iÉÉ³ýÉ ºÉÆiÉ±ÉxÉ (SÉäEò ±Éä́ ½þ±ÉÓMÉ) (b÷) ªÉÉ̈ ÉvªÉä ¤Énù±É Ë¤ÉnÚù PªÉÉ́ ÉÉ ±ÉÉMÉiÉ xÉÉ½þÒ.

(<) ªÉÉ¨ÉvªÉä F.B. PªÉÉ´Éä ±ÉÉMÉiÉä.

×
×
×

MÉÖhÉ

[=±É]ÚõxÉ {É½þÉ
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Eòxº]ÅõC¶ÉxÉ ºÉ´½æþ<ÆMÉ +ìhb÷ <Îº]õ¨Éä]õÓMÉ EòÉìº]õÓMÉ (ÊlÉ+®úÒ)

ºÉÚSÉxÉÉ.----- (1) ºÉ´ÉÇ |É¶xÉ ºÉÉäb÷Ê´ÉhÉä +É´É¶ªÉEò +É½äþ.

(2) =VÉ´ÉÒEòb÷Ò±É +ÆEò {ÉÚhÉÇ MÉÖhÉ nù¶ÉÇÊ´ÉiÉÉiÉ.

(3) +É´É¶ªÉEò iÉälÉä ºÉÖ¤ÉEò +ÉEÞòiªÉÉ EòÉføÉ.

(4) +É´É¶ªÉEò iÉälÉä +ÊvÉEò ¨ÉÉÊ½þiÉÒ MÉÞÊ½þiÉ vÉ®úÉ.
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5(Eò) SÉÚEò ËEò´ÉÉ ¤É®úÉä¤É®ú iÉä Ê±É½þÉ (EòÉähÉiÉä½þÒ {ÉÉSÉ) :--

(1) {±ÉìÊxÉ¨ÉÒ]õ®úSªÉÉ ºÉÉ½þÉªªÉÉxÉä ¡òCiÉ ´Éäb÷¬É´ÉÉEòb÷¬É +ÉEÞòiÉÒSÉä IÉäjÉ¡ò³ý EòÉføiÉÉ
ªÉäiÉä.

(2) {±ÉäxÉ ]äõ¤É±É ¨ÉÉäVÉhÉÒiÉ xÉEòÉ¶ÉÉ EòÉªÉÉÇ±ÉªÉÉiÉ +É±ªÉÉ´É®ú EòÉføiÉÉiÉ.

(3) =¦ªÉÉ {ÉÉiÉ³ýÒiÉ ¨ÉÉäVÉ±Éä±ªÉÉ +ÊvÉEò EòÉäxÉÉºÉ +ÄMÉ±É +Éì¡ò B±ÉÒ{]äõõ¶ÉxÉ +ºÉä
¨½þhÉiÉÉiÉ.

(4) VÉÊ¨ÉxÉÒ´É®ú +ºÉ±Éä±ªÉÉ {ÉÉhªÉÉSªÉÉ ]õÉEòÒ±ÉÉ EòÉì±É¨É´É®ú +ºÉ±Éä±ªÉÉ {ÉÉhªÉÉSªÉÉ
]õÉEòÒ{ÉäIÉÉ Eò¨ÉÒ JÉSÉÇ ªÉä<Ç±É.

(5) iÉ{ÉÊ¶É±É {ÉjÉEòÉ¨ÉvªÉä Eò±É¨ÉÉÆSÉÒ BEÚòhÉ C´ÉÉÆ]õÒ]õÒ Ênù±Éä±ÉÒ +ºÉiÉä.

(6) +vÉḈ É]õ EòÉ¨É ZÉÉ±Éä±ªÉÉ Eò±É¨ÉÉÆSÉä näùªÉEò Reduced Rate xÉä ¤ÉxÉÊ´ÉiÉÉiÉ.

(b÷) BEòEò Ê±É½þÉ (EòÉähÉiÉä½þÒ ºÉ½þÉ) :--

(1) EòÉ{ÉÓMÉ 2.5 ºÉå.¨ÉÒ. VÉÉb÷Ò

(2) {±ÉÉªÉ´ÉÖb÷SÉä EòÉ¨É

(3) R.C.C. nù®ú´ÉÉVªÉÉSÉÒ SÉÉèEò]õ

(4) Uô{ÉÉ<ÇSÉÒ {Éb÷nùÒ

(5) ±ÉÉäJÉÆb÷Ò OÉÒ±É

(6) ¥ÉÒEò ¤Éì]õ EòÉä¤ÉÉ.
(7) 100 mm ǢûnùÒSÉÉ {±Éìº]õ®ú {É^õÉ.

2. EòÉähÉiÉä½þÒ nùÉäxÉ |É¶xÉ ºÉÉäb÷́ ÉÉ :--

(+) Ê|ÉZÉ¨Éì]õÒEò EÆò{ÉÉºÉxÉä ¤ÉÆnù ´Éäfø¬ÉSªÉÉ PÉb÷¬É³ýÉSªÉÉ Ênù¶ÉäxÉä Eäò±Éä±ªÉÉ ¨ÉÉäVÉhÉÒiÉ {ÉÖføÒ±É
=kÉ®ú EòÉäxÉ F.B. PÉähªÉÉiÉ +É±ÉäiÉ. iªÉÉ´É°üxÉ ¨ÉÉMÉÒ±É =kÉ®ú EòÉäxÉ EòÉføÉ. +ÉÊhÉ
ºÉ¨ÉÉÊ´É¹]õ EòÉäxÉ EòÉføÉ.

®äú¹ÉÉ {ÉÖføÒ±É =kÉ®úEòÉäxÉ ®äú¹ÉÉ {ÉÖføÒ±É =kÉ®úEòÉäxÉ

AB 50030’ CD 18300’

BC 120015’ DA 292045’

(¤É) ºÉÆiÉ±ÉxÉ nÆùb÷ÉSÉÒ +ÉEÞòiÉÒ EòÉføÉ.

(Eò) +ÉEÞòiÉÒiÉ Ênù±Éä±ªÉÉ IÉäjÉÉSÉÉ GòÉìºÉ º]õÉ¡ò ºÉ´½æþ {±ÉÉì]õõ Eò®úÉ ´É iªÉÉSÉä IÉäjÉ¡ò³ý EòÉføÉ.
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(b÷) ºÉiÉiÉ =iÉÉ®úÉSªÉÉ VÉÊ¨ÉxÉÒ´É®ú JÉÉ±ÉÒ±É|É¨ÉÉhÉä ´ÉÉSÉhÉä, ±Éä´½þ±É ´É º]õÉ¡òxÉä PÉäiÉ±ÉÒ.
2.85, 2.00, 1.20, 0.865, 2.755, 1.750, 2.225, 1.105 ºÉ´ÉÇ ´ÉÉSÉxÉä ±Éä́ ½þ±É
¤ÉÖEò¨ÉvªÉä xÉÉånùhÉÒ Eò®úÉ ´É ®äúb÷¬ÖºÉ ±Éä́ ½þ±É EòÉføÉ. {ÉÊ½þ±ªÉÉ Ë¤ÉnÖùSÉÒ RL 101 m. +É½äþ.



3. JÉÉ±ÉÒ±É |É¶xÉÉÆSÉÒ =kÉ®äú tÉ (EòÉähÉiÉä½þÒ SÉÉ®ú) :----

(+) ÊlÉ+Éäb÷Éä±ÉÉ<]õSÉä ={ÉªÉÉäMÉ ºÉÉÆMÉÉ.

(¤É) ¤Éä+®úÓMÉ ¨½þhÉVÉä EòÉªÉ ? iªÉÉSÉä |ÉEòÉ®ú ºÉÉÆMÉÉ.

(Eò) ´ªÉÉJªÉÉ Ê±É½þÉ.---- SÉåVÉ {ÉÉì<È]õ, }±ÉÉªÉ ±Éä́ ½þ±ÉÓMÉ, bä÷]õ¨É ±ÉÉ<ÇxÉ, ±ÉÉ<ÇxÉ +Éì¡ò
EòÉì±ÉÒ¨Éä¶ÉxÉ.

(b÷) ®úÉ<ÇºÉ +ìhb÷ ¡òÉì±É ¨ÉälÉb÷ º{É¹]õ Eò®úÉ.

(<) ±ÉÉÄMÉ ´ÉÉì±É ´É ¶ÉÉì]Çõ ´ÉÉì±É ¨ÉälÉb÷ Ê±É½þÉ.

(¡ò) <º]õÒ¨Éä]õ ¨½þhÉVÉä EòÉªÉ ? iªÉÉSÉä ¨É½þk´É Ê±É½þÉ.

4. Ê]õ{ÉÉ Ê±É½þÉ (EòÉähÉiªÉÉ½þÒ SÉÉ®ú) :----

(+) {±ÉÓlÉ B®úÒªÉÉ ¨ÉälÉb÷.

(¤É) ´ªÉ´ÉºlÉÉ{ÉxÉ JÉSÉÇ ËEò´ÉÉ +ºlÉÉ{ÉxÉÉ JÉSÉÇ.

(Eò) ]äõCxÉÒEò±É ºÉÄC¶ÉxÉ (T.S.) iÉÉÆÊjÉEò ¨ÉÉxªÉiÉÉ ¨½þhÉVÉä EòÉªÉ ?

(b÷) ¤ÉÆnù ´ÉäføÉ ¨½þhÉVÉä EòÉªÉ ?

(<) ºÉ¨ÉÉäSSÉiÉÉ nù¶ÉÇEò ®äú¹ÉÉ.

5. EòÉähÉiÉä½þÒ nùÉäxÉ |É¶xÉ ºÉÉäb÷́ ÉÉ :----

Ênù±Éä±ªÉÉ bÅ÷Éì<ÇÆMÉ´É°üxÉ JÉÉ±ÉÒ±É C´ÉÉÆ]õÒ]õÒ EòÉføÉ.

CON 1150 3
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[=±É]ÚõxÉ {É½þÉ

(+) (1) +ÉiÉÒ±É {±ÉÉº]õ®ú (2) ¤ÉÉ½äþ®úÒ±É {±ÉÉº]õ®ú

(3) }±ÉÉä+Ë®úMÉ (4) ÊJÉb÷CªÉÉÆSÉä ÊOÉ±É.

(¤É) (1) JÉÉänùEòÉ¨É (2) VÉÉäiªÉÉ¨ÉvÉÒ±É ¨ÉÖ°ü¨É ¦É®úÉ<Ç.

(Eò) b÷¤¤É®ú ¤ÉÉÆvÉEòÉ¨É EòÉføÉ ?

(b÷) ´ÉÒ]õ ¤ÉÉÆvÉEòÉ¨É EòÉføÉ ?
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6. EòÉähÉiÉä½þÒ SÉÉ®ú |É¶xÉ ºÉÉäb÷́ ÉÉ :----

(+) ´ªÉÉJªÉÉ Ê±É½þÉ :----

(1) ]ÅõÉxZÉÒ]õÓMÉ ¨½þhÉVÉä EòÉªÉ ?ú

(2) ¡äòºÉ ±Éä}]õ ¨½þhÉVÉä EòÉªÉ ?

(¤É) ÊlÉ+Éäb÷Éä±ÉÉ<Ç]õ ={ÉEò®úhÉÉiÉÒ±É nùÉä¹ÉÉ¨ÉÖ³äý (Instrumental Errors) EòÉähÉiªÉÉ½þÒ SÉÉ®ú

SÉÖEòÉ Ê±É½þÉ.

(Eò) ]ìõEòÉä̈ Éä]ÅõÒEò ºÉ´½æþ<ÆMÉ ¨½þhÉVÉä EòÉªÉ ? ={ÉEò®hÉ EòÉähÉiÉä ´ÉÉ{É®úiÉÉiÉ.

(b÷) b÷̈ {ÉÒ ±Éä́ ½þ±ÉSÉä ±Éä́ ½þ±ÉÓMÉ Eò®úhªÉÉSÉÒ {ÉrùiÉ Ê±É½þÉ.

(<÷) ´ªÉÉJªÉÉ Ê±É½þÉ :----

(1) +xÉæº]õ ¨ÉxÉÒ

(2) ºÉäCªÉÖ®úÒ]õÒ Êb÷{ÉÉìÊZÉ]õ.
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(ENGLISH)

[ TIME ALLOWED—3 HOURS ]

(MARKS—100)

CONSTRUCTION SURVEYING AND ESTIMATING COSTING (THEORY)

1. (a) Choose the correct alternatives (any five) :—

(i) The object of surveying is to prepare.

(a) Drawing (b) Cross-Section

(c) Map
(ii) Calculate Representative fraction of scale when 1cm = 8m

Used.

(a) 1/1000 (b) 1/800

(c) 1/400
(iii) 1m3 equal to how many cubic feet.

(a) 3.528 (b) 35.28

(c) 352.80
(iv) How many links are in a meter chain.

(a) 100 No. (b) 90 No.

(c) 50 No. (d) 10 No.
(v) In surveyors compass the ring is graduated.

(a) From 0° to 360° (b) in quadrant 0° to 90°

(c) any way
(vi) Right angle and 45° angle is measured with the help of.

(a) Open cross staff (b) French cross staff

(c) Adjustable cross (d) Optical square.
staff

(b) Match the pair :—

‘A’ Group ‘B’ Group

(i) Simple Leveling (a) Ends of Leveling on
starting point

(ii) Differential leveling (b) No intermediate reading

(iii) Fly leveling (c) Change point is required

(iv) Check leveling (d) No need of change point

(e) Need of F.B.

Marks

5
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[Turn over

4

Instructions.— (1) All questions are compulsory.
(2) Figures to the right indicate full marks.
(3) Assume suitable additional data if necessary.
(4) Draw the diagram wherever necessary.
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Marks
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(c) Write true and false (any five) :—

(i) Planimeter is used to measure the area of irregular size figure.

(ii) In plane table surveying drawing is drawn in the office.

(iii) Vertical angle measured by Theodolite is also known as an angle
of Eliptation.

(iv) The construction cost is required less to construction GSR than
over head tank.

(v) Total quantity of items is given in the specification.

(vi) Incomplete works of any items is paid by reducing its rate.

(d) Write units of items (any six) :—

(i) Coping 2.5 cm thick (ii) Plywood Work
(iii) RCC Door Frame (iv) RCC Pardi
(v) MS Grill (vi) Brick Bat Coba
(vii) 100 mm wide Plaster patta

2. Solve any two questions :–

(a) In a prismatic compass clockwise survey get the following reading
of FB. Calculate the included angle.

Line Fore Bearing Line Fore Bearing

AB 50030’ CD 183°0’

BC 120015’ DA 292°45’

(b) Draw the figure of Leveling staff.

(c) Plot the cross staff survey of field and calculate its area as shown
in figure.—

16
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(d) The following reading were taken on sloping continuously ground
with a level staff. 2.85, 2.00, 1.20, 0.865, 2.755, 1.750, 2.225,
1.105 Enter the reading in level book and calculate the RL. The
First point RL is 101.00 m.

3. Solve any four questions :–

(a) Uses of Theodolite.

(b) What is mean by bearings ? Give its types.

(c) Define.–Change point, Fly leveling, Datum line, Line of Collimation.

(d) Describe Rise and fall method.

(e) Describe long wall method and short wall Method.

(f) What is mean by estimate ? What is importance of estimate ?



4. Write Short Notes on (any four) :—

(a) Plinth area method.

(b) Work charge establishment.

(c) Technical sanction.

(d) Closed Travers.

(e) Contour Line.

5. Solve any two of the following :—

From given plan and section in figure calculate the quantity.

Marks

16
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(a) (i) Internal plaster (iii) External plaster

(ii) Flooring (iv) Grills of windows.

(b) (i) Excavation (ii) Murrum filling in plinth.

(c) Calculate the quantity of UCR masonry.

(d) Calculate the brick work quantity in superstructure.

6. Solve any four of the following :—

(a) Define.— (i) Transiting (ii) Face left

(b) Write down any four mistakes due to instrumental Error in Theodolite
Surveying.

(c) What is mean by Tachometric surveying ? Which instrument is a used for
this survey ?

(d) Write down the procedure of leveling of dumpy level.

(e) Define.— (i) Earnest money (ii) Security deposit.
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